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1. Find the distance on a number line between -11.2 and 17.6, 3.2
2. Find the distance between (4,-8) and (1,-6) | -7 | 2% = [1= |
3. Determine whether the conditional is TRUE or FALSE. If a triangle is not acute, then it is not equilateral. | [~ |}’
4. Write the converse of the previous statement. 1+ . 1 ia ale (= + eq111 ) adeq the
5. Determine whether the converse you wrote in the previous question is TRUE or FALSE.
6. A parallelogram has base 12 and height 7. Find its area. (DY W (FALSE
7. Determine whether a triangle with sides 8, 10, and 13 is acute, right, or obtuse. |- - ©
8. Find the measure of one angle of a regular pentagon. | (80 Je S5U O [ DB

9. Find the sum of the exterior angle measures of a convex decagon. | -
10. Inacircle, a central angle measures 58°. Find the measure of its arc.

11. Inacircle, an inscribed angle measures 58°. Find the measure of its arc.
12. What is the slope of a vertical line?

13. What is the slope of a horizontal line?

14. Write the equation of a vertical line that contains (3. 7).

15. Write the equation of a horizontal line that contains 3,7)

16. What are the undefined terms in geometry? | (i :
17. The area of a square is 64. What is the length of a diagonal? BV 2 ul i

18. Acircle has diameter 18. What is its area? Y ; ¢ R ALY Ty

19. Acircle has equation (x - 3)2 + (y + 4)? = 36. State the center, diameter, and a point on the circle. |
20. A circle has radius 9. Find the ratio of the circumference to the diameter. | T |
21) Sketch AABC, with m<C = 90°, m£A = 26°,and AC = 12. Find the lengths of the remaining angle and sides.
32 Sketch AABC, with mzC = 90°, BC = 5,and AC = 12. Give the ratios (fractions) for sin A, cos A, and tan A. a
23) The measures of the angles of a triangle are 2x + 5, 3x, and 8x - 20. Is this triangle acute, right, or obtuse?

24. Aline in the plane of a circle that intersects the circle exactly once iscalled a(n) __. 1/l K’
25. Aline in the plane of a circle that intersects the circle exactly twice is called a(n) ___.

26. A segment with both endpoints on a circle is called a(n) ; ‘\horad

27. What is the longest chord in a circle? diometer

28. When two lines meet to form congruent adjacent angles, the linesaresaidtobe .1
29. What are complementary angles? | 1! waies wot UL 1)°

30. What are supplementary angles? “TLup  (alee o

31. When two non-parallel lines intersect, their intersectionisa(n) . [ O\

32. What are skew lines? e 0SectiNg . N Oplan! ‘

33. What is a median of a triangle? | | ( ; ) VY \

34. What is an altitude of a triangle? WY ( X | QN D
35/ What s the difference between postulates and theorems? _ & .
36. Describe an acute angie. ! () ‘ etes :

37. Describe an obtuse angle. \( 1 (1% 1!
38. Describe a right angle. e o
39. Sketch two parallel lines and a transversal. Label one pair of alternate interior angles as «1 and £2. - / ;
40. Ifmz1 =75, thenmz2 =_"/’ -

[}

L/

| 7

41. Sketch two parallel lines and a transversal. Label one pair of corresponding angles as £3 and 24. & H\
42. fms3=112,thenmed = || 2" i

43. Sketch two parallel lines and a transversal. Label one pair of same-side interior anglesas z5and 26. =« ¥ 4

44. 1fms5 =48, thenme6=_ 57" Ll

45. Inacircle, a chord of length 6 cm is 4 cm from the center. Find the radius of the circle. g .

46. A square has diagonal of length 8 cm. Find the perimeter of the square.
Lt (\47! A cone has radius 10 cm and height 7 cm. Find the exact volume. (Leave m in your answer.)
~ ) 48. A square pyramid has base edge 18 cm and height 12 cm. Find the slant height.
iy A49. A square pyramid has base edge 18 cm and height 12 cm. Find the area.

50./ An equilateral triangle has sides that are 9 cm. Find its area. L g 2

51. Two similar polygons have areas of 45 cm2 and 125 cm2. Find the ratios of their corresponding sides. ;-
52. Anarc of a circle measures 67°. Find the measure of its central angle. | (,77° | e
53. Anarcof a circle measures 67°. Find the measure of its inscribed angle. . %), |

54. The radius of a regular hexagon measures 10 cm. Find the apothem. ' - 7, 35 4] _{ A :
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The radius of a regular hexagon measures 10 cm. Find the perimeter. 6O Cmy R )

The radius of a regular hexagon measures 10 cm. Find the area._' 160 N (e (" ;ag e\ /e /2 L 0
A circle has area 49m. Find the exact circumference. | | ! J = T
An isosceles triangle has base 24 cm and the other two sides each measure 13 cm. Find its area. 70, ;

An equilateral triangle has sides that each measure 7 in. Find the length of an altitude. - -
A rectangle has length 20 and diagonal 52. Find its area. ‘ : :

A line has equation 4x - 3y = 9. Give the x-intercept. Ty

A line has equation 4x - 3y = 9. Give the y-intercept.’

Give the slope of the line with equation 4x - 3y=0. - =2
4,7),(9,5),and (11, 1). Whatis the coordinate of the fplgth \ £

Three consecutive vertices of a parallelogram are (

Vo

vertex? e 1 Jee Slope
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Give the equation of a line that pa;ses through (4, 5) and has slope %. f -5z (x-4)| . Z

A line through (1,-3) and (-2, k) is parallel to the line with equation 2x + yfi:ﬂ'f.‘ Find the value of k.
A cylinder has diameter 8 cm and height 12 cm. Find the lateral area. , :
Find the slope of the line that passes through P(6, 1) and Q(2, -6). "7'.‘? — =

£, 2
L,/

Find the slope of the line thatis perpendicular to the line that passes throigb_f_(g_l)éand Q(Z,-6). J

Find the midpoint of the segment with endpoints P(6, 1) and Q(2,-6). ,: 4,-3.5
Find the distance from P(6, 1) to Q(2, -6). - Noe+49=(Vks | =

§

Give the equation of the line through P(6, 1) and Q(2, -6). B TR

By \ —

A circle has center P(6, 1) and radius 5. Write the equation of this circle. o Y ket —

e AT A R A

Give the coordinates of a point on the circle in the previous question. ('1,1) (1,1 )b, %) L% 3

Give the x-coordinate of the center of the circle with equation xZ + y2 - 12x + 18y = 7. (x=0)2+ (YT g) =AY

A triangle has vertices A(3, 8). (-1,4), and C(5, 6). Give the coordinates of A’ after the triangle is reflected across the
2 . "/‘

x-axis. : LDy

A triangle has vertices A(3, 8), B(‘1,4),and C(5, 6). Give the coordinates of B' after the triangle is rotated 90°

clockwise around the origin. -—="

)

A triangle has vertices A(3, 8), B (-1,4),and Cc(5, 6) Give the coordinates of C' after the triangle is translated 2 units
] ; !

left and 4 units up. Ko

A triangle has vertices A(3, 8), B(-1,4), andC :(_5;,6).__(3_ive the coordinates of B’ after the triangle is dilated by a facto

2, with center of dilation at the origin. (-3,
A 15-ft ladder is leaning against a wall. It makes an
the bottom of the wall?

'_a:flgle with the wall of 13°. How far is the base of the ladder from

@ A triangle has sides which measure 8, 9, and 11. Find the measure of the largest angle. TS 'j']g E;ﬂ\
§2.) In AABC, m£A = 24°, m¢B = 58°,and AC = 12.5. Find BC. > 1o 108
3. A sector of a circle has central angle 150° and radius 6.4 cm. Find the length of the arc created by this a-r}gle.':_ S Wil ﬂ’w”)
84, A sector of a circle has central angle 150° and radius 6.4 cm. Find the area of this sector.. }r’\ AT, 1}/3’__ = )
/é; In AABC, with perimeter 48 cm, AB = 2x + 5BC=x+12,and AC=3x + 1. Which angle i‘s?rffaTl‘e'st?j""”P \
86. Two sides of a triangle measure 6 cm and 14 cm. The third side must be between ? _cmand 20 cm.

87. The diagonals of a rhombus are 10 cm and 24 cm. Finditsarea. A=Z 3, dz =] i3:_ffj

88. The diagonals of a rhombus are 10 cm and 24 cm. Find its perimeter. 12 ’3*-* F - 57¢ m_

'89)) A trapezoid has bases with length 4x + 1 and 2x - 5, and the midsegment is 34 in. Find the lengths of the bases.

90. Similar triangles have a scale factor 3:5. If the smaller

‘93)
2

96)
97.
98.

99.
100.

corresponding side of the larger triangle. —7==

—

t_r'i:%mgle has a side that is 10.5 cm, find ‘the length of the

S Y = |7 5CmM

1 Similar triangles have a scale factor 3:5. If the smaller triéngle has area 22.5 cm?, find the area of the larger triangle.
92. Similar polygons have areas 80 m? and 125 m2. If the perimeter of the larger figure is 28 m, what is the perimeterof
the smaller figure? Ofqe = lehs (aren) VG

2 /o Ao o b :
If AABC is a right triangle with hypotenuse 12 cm and one angle 30°, find the exact value of the perimeter of AABC. /1

== . < Y = -l
/S pexyy 0o ’ = ) /" ;’.‘u“}‘_f

[/ .

If AABC is a right triangle with hypotenuse 12 cm and one angle 30°, find the exact value of the area of AABC.
95, In AABC, m2A = 22°, m«B = 81°,and AC=6.7. Find BC.

In AABC mzA = 48°, AB = 7.3,and AC=11.4. Find

BC.

How many possible outcomes are there if you roll one die and flip a coin? | 2 |
If you are ordering a pizza that will have thin or thick crust, one meat from three options, and one vegetable from four

options, how many different pizzas could you orde
In how many ways can you selecta president, vice

In how many ways can you select three teammates

r?
pre

for an event if there are 15 people to choose from? 20 |

o e

2.2.4= Mg pizzas )

sident, treasurer, and secretary from a group with 20 members?
U e
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@. A square with diagonal 10 cm is inscribed in a circle. Find the probability that a point chosen at random inside the
circle is also inside the square.

@ Two dice are rolled. Find the probability that the sum is 10 or both numbers are even. [l O/gb \ "; “”
103. A coin is flipped three times. Find the probability thatat least two of the coins land on tails. 1 o7 70 77T = "2

104. If a bag contains 120 tickets numbered from 1 through 120, and one ticket is randomly selected, what is fche s 1
o b ..\.‘,1‘: w.-“ L [ S ey g ¥

probability that the ticket number is a multiple of 4 and less than 507 H,2, 14, 18,27, 20
105. A password consists of 5 digits (0-9),/none 'offi&ﬁi’g‘if}j}fajiw’_ej/‘_fe—_tﬁThe first digit must be odd, the second digit must —
0

J

be even (including 0), and the last three can be anything. How many such passwords are possible? G308 1o gé/g
106. There are 15 songs on your playlist. With random shuffle and no repetition, you listen to two songs. What is the- -
probability that your favorite song played first and your least favorite song played second? 5 " /210 \
107. In a cooler, there are 12 bottles of sports drinks. Four are lemon-lime, four are orange, and fou%a;jruit punch flavor.

If you randomly grab a bottle, what is the probability it is lemon-lime or orange? 3//2 = | f‘f/’;’;
108. A bag contains 6 red marbles and 3 blue marbles. If you randognly pick a marble, return it to the bag, and then picka

second marble, what is the probability that bothare red? 2 =

109. A trapezoid has area 48.72 cm? and height 5.6 cm. If one base is 3.4 cm, ho;v lcprng is the other base? t$ ?_’ )

= _ 1 , A
- | 6 J‘J.'!‘ «l\'u/tj”d

110. Find the area of a rectangle with width 13.4 in and perimeter 64.81in. - u— \ %4 A= S VI 5. »ﬁT_‘FE_ﬁ
" P v AL Tilp Jpne] 2 %
111. How many ways can the letters in the word PASSENGERS be arranged?- &m’ L i N T ,;ﬁl—-
o e
In each of the following diagrams, find the value of the variable. =7 “2 02 .A_.f‘gs_ﬁ)‘
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These three figures are parallelograms. Find the value of x.

BZ=24
XZ=3x+15

2. - ?
- 4 — —
) \‘ F""t“_r =4 Q)

5 L 23
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e,

Find the value of x.

These figures are similar.

Find the missing angle measure.

x
) Np @
P 13
/-‘;f};":‘( ’:l
ol
e } 2
1 PR . M
tan 40" = %

e s ) tanyoz .
[x733.4 | 2155 4

Find the probabilities.

s Small Large

Red 18 35 53

White | 11 19 20

Blue 26 28 54
S5 g4 13771

A. P(Red) 2/ 37

B. P(BlueorLlarge) |0 8 ‘ 37

i/ -
C. P(Whiteand Small) /137

D. P(Red or Blue | Large) (D?}// I,

2 N\
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